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1.

You are given a static model of a closed economy with the following features
- (i) consumption (c) depends on real income (y), the interest rate (r), and real
balances (M/P);
(ii) investment (i) depends on the interest rate;
(iii) demand for real balances depends only on real income;
(iv) output depends on the input of labor (N) and stock of a natural resource (R);
(v) labor demand depends on the reai"wage (W/P) and the stock of the natural
resource. _ ‘
The endogenous variables are real output (y), consumption (c), investment (i),
the interest rate (r), employment (N), the price level (P), and the money wage
W).
(a) Suppose labor supply depends only on the real wage, find the effect on output
.. ofan increasg in the stock of the natural resource. (10 pomts)
(b) Suppose the nommal ‘wage is fully indexed to the pnce level i.e., W=aP,
wage. Fmd the effect of an increase in the stock of the natural resource on

output and compare the answer with the one in (a). (15 points)

2. Explain_ the term of “Ricardian equivalence theorem”. Consider a fiscal policy
that reduces the tax rate, which the government finances by issuing more bonds.
State the condition(s) under which this deficit-financed tax cut shifts the IS curve

rightward. (15 points)

3. Consider an open economy described as follows:

Coqsumption: C=a+by,— er+gm, ab,e g>0,
Disposable income: vi=y — T,

Tax revenue: T=T,,

Investment: I= iy — Lr, i@, i, >0,
Government spending: G= G,

Net Exports: NX= X — my, 0<m<l,
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Demand for real balances: m"=a0 tay-a,r, 0,a,,d,>0,
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Sdpbly of money: m'=m,
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rate. (10 points)

R - (15 53)

where variable r denotes the interest rate, y denotes income, and b + i < l

(b) Calculate the impacts on equilibrium income and the interest rate ot1 an
increase in the stock of real money balances. (10 points)

(c) Suppose the government adopts a fiscal policy that decreases its tax revenue,
which the .govemmgnt ﬁngnses by §ppp'1ying I'l"l(})ﬂe% money, what are the effects
on equilibrium income and the interest rate, (10 points)

P2

(a) If the government spending and tax revenue are simultane_ously increased by
the same amount, what are the effects on equilibrium income and the interest
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